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The Proposal:

The proposal is to give the character U+0E2F (41) THAI CHARACTER PAIYANNOI the Grapheme_Cluster_Break property values of
both a 'Prepend' and an 'Extend’, changing from the current 'Default’

Problem statement:

The character U+0E2F (™) is mainly used to abbreviate certain words. Most of the time, it is a suffix of an abbreviation. Sometime it

appears both as a prefix and a suffix of an abbreviation. For example:

° ﬂﬁq\‘i LVIN™ (used as a suffix)
® Q™ (used as a prefix and a suffix)
o  “NWEU™ (used as a prefix and a suffix)

° Tﬂmmfﬁw (used as a suffix)

Basically, the function of this character is to abbreviate a word Very few words may have both a prefix and a suffix. The two
examples shown above are the only two we have found so far. If a Paiyannoi is found as prefix of abbreviation, the Paiyannoi as
suffix is also is required at the end of the abbreviated word. Otherwise, the prefix Paiyannoi is invalid. In some rare cases, it is used

as a symbol to render Thai lunar calendar. This type of calendar is mainly used by some oracles and monks. For example:

s7n

However such usage is very rare, and is not expected to be represented in plain text.

There is no 'Grapheme_Clusgter_Break' property (other than the 'Default') assigned to this character, either in Table 2 under section

3.1in UTR 29, or in the corresponding data file http://www.unicode.org/Public/6.0.0/ucd/auxiliary/GraphemeBreakProperty.txt .

The problem we have found is that in a line wrapping operation the suffix Paiyannoi character (examples 1 and 4 above) appears at
the beginning of a line instead of being kept with the grapheme cluster it belongs to in the abbreviated word. It should not be split
from the last grapheme cluster in the word. Similarly the prefix Paiyannoi in the second and third examples should not be at the end
of a line split from the grapheme cluster it forms with the characters following it. The following is an example of running text — it is a

modified sentence from news at: http://wwwz2.narathiwat.go.th/narathiwat/news_poc/aspboard_Question.asp?GID=837
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Current Grapheme Clustering:
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The white space before or after the Paiyannoi in the above example is current grapheme breaks involving the Payannoi. The bold

characters show what it should be clustered with. The following shows the correct grapheme clustering.
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Correct Grapheme Clustering:
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By current Default property, the character is split off from the grapheme cluster it should be kept with. The character itself can not be
used as standalone character (unless the surrounding context is white space character). With the proposed property change It will

be included as part of the appropriate grapheme cluster, except for the degenerate case.
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